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router eigrp 1 

 eigrp stub connected



  

a1#show ip eigrp neighbors detail 

IP-EIGRP neighbors for process 1 

H   Address      Interface    Hold Uptime   SRTT   RTO  Q  Seq 

                              (sec)         (ms)       Cnt Num 

0   172.16.1.33  Se0/0/0.401    11 00:01:03 1031  5000  0  9 

   Version 12.4/1.2, Retrans: 0, Retries: 0, Prefixes: 1 

   Stub Peer Advertising ( CONNECTED ) Routes 

   Suppressing queries 

1   172.16.1.2   Se0/0/0.100    10 00:03:32  753  4518  0  4 

   Version 12.4/1.2, Retrans: 0, Retries: 0, Prefixes: 2 

   Stub Peer Advertising ( CONNECTED ) Routes 

   Suppressing queries



  



  

a1#show ip eigrp topology 10.1.0.0 255.255.255.0 

IP-EIGRP (AS 1): Topology entry for 10.1.0.0 255.255.255.0 

  State is Passive, Query origin flag is 1, 2 Successor(s), FD is 2684416 

  Routing Descriptor Blocks: 

  172.16.1.33 (Serial0/0/0.401), from 172.16.1.33, Send flag is 0x0 

      Composite metric is (2684416/2172416), Route is Internal 

      Vector metric: 

        Minimum bandwidth is 1544 Kbit 

        Total delay is 40100 microseconds 

        Reliability is 255/255 

        Load is 1/255 

        Minimum MTU is 1500 

        Hop count is 2 

  172.16.1.2 (Serial0/0/0.100), from 172.16.1.2, Send flag is 0x0 

      Composite metric is (2684416/2172416), Route is Internal 

      Vector metric: 

        Minimum bandwidth is 1544 Kbit 

        Total delay is 40100 microseconds 

        Reliability is 255/255 

        Load is 1/255 

        Minimum MTU is 1500 

        Hop count is 2



  

%DUAL-5-NBRCHANGE: IP-

EIGRP(0) 1: Neighbor 10.0.0.6 (FastEthernet0/0) is down: holding time expire

d 

a1#show ip eigrp topology 10.1.0.0 255.255.255.0 

% IP-EIGRP (AS 1): Route not in topology table

hostname a1 

! 

interface Loopback0 

 ip address 172.16.0.11 255.255.255.255 

! 



  

interface FastEthernet0/0 

 ip address 10.0.0.5 255.255.255.0 

! 

interface Serial0/0/0.100 point-to-point 

 ip address 172.16.1.1 255.255.255.252 

 ip summary-address eigrp 1 0.0.0.0 0.0.0.0 5 

 frame-relay interface-dlci 100    

! 

router eigrp 1 

 network 0.0.0.0 

 no auto-summary

hostname b1 

! 

interface Loopback0 

 ip address 172.16.0.21 255.255.255.255 

! 

interface FastEthernet0/0 

 ip address 192.168.0.5 255.255.255.0 

 standby 1 ip 192.168.0.1 

 standby 1 preempt 

! 

interface Serial0/0/0.100 point-to-point 

 ip address 172.16.1.2 255.255.255.252 

 frame-relay interface-dlci 100    

! 

router eigrp 1 

 network 0.0.0.0 

 no auto-summary 

 eigrp stub connected



  

b2#show ip route eigrp 

     172.16.0.0 255.255.0.0 is variably subnetted, 3 subnets, 2 masks 

D       172.16.0.21 255.255.255.255 

           [90/156160] via 192.168.0.5, 00:02:54, FastEthernet0/0 

D       172.16.1.0 255.255.255.252 

           [90/2172416] via 192.168.0.5, 00:02:54, FastEthernet0/0 



  

router eigrp 1 

 network 0.0.0.0 

 no auto-summary 

 eigrp stub connected leak-map EigrpLeakedRoutes 

! 

ip access-list standard EigrpLeakedRoutes 

 permit 0.0.0.0 

 permit 172.16.0.16 0.0.0.15 

! 

route-map EigrpLeakedRoutes permit 10 

 match ip address EigrpLeakedRoutes

b2#show ip route eigrp 

     172.16.0.0 255.255.0.0 is variably subnetted, 3 subnets, 2 masks 

D       172.16.0.21 255.255.255.255 



  

           [90/156160] via 192.168.0.5, 00:00:28, FastEthernet0/0 

D       172.16.1.0 255.255.255.252 

           [90/2172416] via 192.168.0.5, 00:00:28, FastEthernet0/0 

D*   0.0.0.0 0.0.0.0 [90/2174976] via 192.168.0.5, 00:00:27, FastEthernet0/0

a2#show ip eigrp topology 0.0.0.0 

IP-EIGRP (AS 1): Topology entry for 0.0.0.0 0.0.0.0 

  State is Passive, Query origin flag is 1, 1 Successor(s), FD is 28160 



  

  Routing Descriptor Blocks: 

  0.0.0.0 (Null0), from 0.0.0.0, Send flag is 0x0 

      Composite metric is (28160/0), Route is Internal 

      Vector metric: 

        Minimum bandwidth is 100000 Kbit 

        Total delay is 100 microseconds 

        Reliability is 255/255 

        Load is 1/255 

        Minimum MTU is 1500 

        Hop count is 0 

      Exterior flag is set 

  172.16.1.6 (Serial0/0/0.101), from 172.16.1.6, Send flag is 0x0 

      Composite metric is (41029120/2174976), Route is Internal 

      Vector metric: 

        Minimum bandwidth is 64 Kbit 

        Total delay is 40200 microseconds 

        Reliability is 255/255 

        Load is 1/255 

        Minimum MTU is 1500 

        Hop count is 3 

      Exterior flag is set

 
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router eigrp 1 

 network 0.0.0.0 

 no auto-summary 

 eigrp stub connected leak-map TightEigrpLeak 

! 

ip access-list standard EigrpDefault 

 permit 0.0.0.0 

ip access-list standard EigrpLoopback 

 permit 172.16.0.16 0.0.0.15 

! 

route-map TightEigrpLeak permit 100 

 match ip address EigrpDefault 

 match interface FastEthernet0/0 

! 

route-map TightEigrpLeak permit 200 

 match ip address EigrpLoopback 

 match interface Serial0/0/0.100 

a2#show ip eigrp topology 0.0.0.0 

IP-EIGRP (AS 1): Topology entry for 0.0.0.0 0.0.0.0 

  State is Passive, Query origin flag is 1, 1 Successor(s), FD is 28160 

  Routing Descriptor Blocks: 

  0.0.0.0 (Null0), from 0.0.0.0, Send flag is 0x0 

      Composite metric is (28160/0), Route is Internal 

      Vector metric: 



  

        Minimum bandwidth is 100000 Kbit 

        Total delay is 100 microseconds 

        Reliability is 255/255 

        Load is 1/255 

        Minimum MTU is 1500 

        Hop count is 0 

      Exterior flag is set 

a2#show ip eigrp topology 172.16.0.21 255.255.255.255 

IP-EIGRP (AS 1): Topology entry for 172.16.0.21 255.255.255.255 

  State is Passive, Query origin flag is 1, 1 Successor(s), FD is 2300416 

  Routing Descriptor Blocks: 

  10.0.0.5 (FastEthernet0/0), from 10.0.0.5, Send flag is 0x0 

      Composite metric is (2300416/2297856), Route is Internal 

      Vector metric: 

        Minimum bandwidth is 1544 Kbit 

        Total delay is 25100 microseconds 

        Reliability is 255/255 

        Load is 1/255 

        Minimum MTU is 1500 

        Hop count is 2 

  172.16.1.6 (Serial0/0/0.101), from 172.16.1.6, Send flag is 0x0 

      Composite metric is (40642560/156160), Route is Internal 

      Vector metric: 

        Minimum bandwidth is 64 Kbit 

        Total delay is 25100 microseconds 

        Reliability is 255/255 

        Load is 1/255 

        Minimum MTU is 1500 

        Hop count is 2
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